

Drinfeld basis of the twisted quantum affine algebra $U_q(A_2^{(2)})$ from the Gauss decomposition of an L -operator

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

2001 J. Phys. A: Math. Gen. 34 L205

(<http://iopscience.iop.org/0305-4470/34/13/107>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 171.66.16.95

The article was downloaded on 02/06/2010 at 08:55

Please note that [terms and conditions apply](#).

LETTER TO THE EDITOR

Drinfeld basis of the twisted quantum affine algebra $U_q(A_2^{(2)})$ from the Gauss decomposition of an L -operator

Wen-Li Yang^{1,2} and Yao-Zhong Zhang³

¹ Institute of Modern Physics, Northwest University, Xian 710069, People's Republic of China

² Physikalisches Institut der Universität Bonn, Nussallee 12, 53115 Bonn, Germany

³ Department of Mathematics, University of Queensland, Brisbane, Qld 4072, Australia

E-mail: wlyang@phy.nwu.edu.cn and yzz@maths.uq.edu.au

Received 24 October 2000

Abstract

We establish the algebraic isomorphism between the Drinfeld basis of the twisted quantum affine algebra $U_q(A_2^{(2)})$ and the twisted Reshetikhin and Semenov-Tian-Shansky algebra by using the Gauss decomposition technique of Ding and Frenkel.

PACS numbers: 0210, 0220, 0365F

AMS classification scheme numbers: 81R10, 17B37, 16W30

1. Introduction

For quantum affine (super) algebras, there exist two types of loop realization: Reshetikhin and Semenov-Tian-Shansky (RS) realization (or the RS algebras) [1, 2] and the Drinfeld bases [3] of quantum affine (super) algebras. Actually, there exists an algebraic isomorphism between the Drinfeld base and the RS algebra realization of quantum affine (super) algebra [4]. The isomorphism between Drinfeld bases and the RS realization was established by the Gauss decomposition of the corresponding L -operators for $U_q(\widehat{gl}(n))$ [4], for $U_q[gl(m|n)^{(1)}]$ [2, 5], $U_q[osp(1|2)^{(1)}]$ [6] and $U_q[osp(2|2)^{(2)}]$ [7]. In this letter, we shall extend such an algebraic isomorphism to the twisted quantum affine algebra case. We establish the algebraic isomorphism between the Drinfeld basis of the twisted quantum affine algebra $U_q(A_2^{(2)})$ and the twisted RS algebra by using the Gauss decomposition technique of Ding and Frenkel.

2. The twisted quantum affine algebra $U_q(A_2^{(2)})$

The symmetric Cartan matrix of the twisted affine Lie algebra $A_2^{(2)}$ is

$$(a_{ij}) = \begin{pmatrix} 8 & -4 \\ -4 & 2 \end{pmatrix}$$

where $i, j = 0, 1$. The quantum affine algebra $U_q(A_2^{(2)})$ is a q -analogue of the universal enveloping algebra of $A_2^{(2)}$ generated by the Chevalley generators $\{e_i, f_i, t_i^{\pm 1}, d | i = 0, 1\}$, where d is the usual derivation operator. The defining relations are [8]

$$\begin{aligned} t_i t_j &= t_j t_i & t_i d &= d t_i \\ [d, e_i] &= \delta_{i,0} e_i & [d, f_i] &= -\delta_{i,0} f_i \\ t_i e_j t_i^{-1} &= (q^{\frac{1}{2}})^{a_{ij}} e_j & t_i f_j t_i^{-1} &= (q^{\frac{1}{2}})^{-a_{ij}} f_j \\ [e_i, f_j] &= \delta_{ij} \frac{t_i - t_i^{-1}}{q_i - q_i^{-1}} \\ \sum_{r=0}^{1-a_{ij}} (-1)^r \begin{bmatrix} 1-a_{ij} \\ r \end{bmatrix}_{q_i} (e_i)^r e_j (e_i)^{1-a_{ij}-r} &= 0 & \text{if } i \neq j \\ \sum_{r=0}^{1-a_{ij}} (-1)^r \begin{bmatrix} 1-a_{ij} \\ r \end{bmatrix}_{q_i} (f_i)^r f_j (f_i)^{1-a_{ij}-r} &= 0 & \text{if } i \neq j \end{aligned}$$

where $q_1 = q^{\frac{1}{2}}$, $q_0 = q^2$, $t_i = q_i^{h_i}$, and

$$\begin{aligned} [n]_{q_i} &= \frac{q_i^n - q_i^{-n}}{q_i - q_i^{-1}} & [n]_{q_i}! &= [n]_{q_i} [n-1]_{q_i} \cdots [1]_{q_i} \\ \begin{bmatrix} n \\ r \end{bmatrix}_{q_i} &= \frac{[n]_{q_i}!}{[n-r]_{q_i}! [r]_{q_i}!} \end{aligned} \tag{2.1}$$

$U_q(A_2^{(2)})$ is a quasi-triangular Hopf algebra endowed with Hopf algebra structure:

$$\begin{aligned} \Delta(t_i) &= t_i \otimes t_i & \Delta(e_i) &= e_i \otimes 1 + t_i \otimes e_i \\ \Delta(f_i) &= f_i \otimes t_i^{-1} + 1 \otimes f_i \\ \epsilon(t_i) &= 1 & \epsilon(e_i) &= \epsilon(f_i) = 0 \\ S(e_i) &= -t_i^{-1} e_i & S(f_i) &= -f_i t_i \\ S(t_i^{\pm 1}) &= t_i^{\mp 1} & S(d) &= -d. \end{aligned}$$

$U_q(A_2^{(2)})$ can also be realized by the Drinfeld generators [9] $\{X^{\pm}(z), \phi(z), \psi(z)\}$.

Definition 1. $U_q(A_2^{(2)})$ is an associative algebra with unit 1 and the Drinfeld generators: $X^{\pm}(z)$, $\phi(z)$ and $\psi(z)$, and a central element c . $\phi(z)$ and $\psi(z)$ are invertible. The defining

relations are given by

$$\begin{aligned}
 \phi(z)\phi(w) &= \phi(w)\phi(z) \\
 \psi(z)\psi(w) &= \psi(w)\psi(z) \\
 \phi(z)\psi(w)\phi(z)^{-1}\psi(w)^{-1} &= \frac{(z_+q + w_-)(z_- + w_+q)(z_+ - w_-q^2)(z_-q^2 - w_+)}{(z_+ + w_-q)(z_-q + w_+)(z_+q^2 - w_-)(z_- - w_+q^2)} \\
 \phi(z)X^-(w)\phi(z)^{-1} &= \frac{(z_+ - wq^2)(z_+q + w)}{(z_+q^2 - w)(z_+ + wq)}X^-(w) \\
 \phi(z)^{-1}X^+(w)\phi(z) &= \frac{(z_- - wq^2)(z_-q + w)}{(z_-q^2 - w)(z_- + wq)}X^+(w) \\
 \psi(z)X^-(w)\psi(z)^{-1} &= \frac{(z_- - wq^2)(z_-q + w)}{(z_-q^2 - w)(z_- + wq)}X^-(w) \\
 \psi(z)^{-1}X^+(w)\psi(z) &= \frac{(z_+ - wq^2)(z_+q + w)}{(z_+q^2 - w)(z_+ + wq)}X^+(w) \\
 (z + wq)(zq^2 - w)X^-(z)X^-(w) &= (zq + w)(z - wq^2)X^-(w)X^-(z) \\
 (zq + w)(z - wq^2)X^+(z)X^+(w) &= (z + wq)(zq^2 - w)X^+(w)X^+(z) \\
 [X^+(z), X^-(w)] &= \frac{1}{q - q^{-1}} \left[\delta\left(\frac{w}{z}q^c\right)\psi(w_+) - \delta\left(\frac{w}{z}q^{-c}\right)\phi(z_+) \right]
 \end{aligned} \tag{2.2}$$

where $z_{\pm} = zq^{\pm c/2}$.

Here, and throughout,

$$\delta(z) = \sum_{l \in \mathbb{Z}} z^l \tag{2.3}$$

is a formal series. $\delta(z)$ enjoys the following properties:

$$\delta\left(\frac{z}{w}\right) = \delta\left(\frac{w}{z}\right) \quad \delta\left(\frac{z}{w}\right)f(z) = \delta\left(\frac{z}{w}\right)f(w). \tag{2.4}$$

The corresponding Drinfeld currents $\psi^{\pm}(z)$ and $X^{\pm}(z)$ are defined by

$$\begin{aligned}
 \psi^+(z) &= \sum_{m=0}^{\infty} \psi_m^+ z^{-m} = K \exp \left\{ (q_1 - q_1^{-1}) \sum_{k=1}^{\infty} a_k z^{-k} \right\} \\
 \psi^-(z) &= \sum_{m=0}^{\infty} \psi_{-m}^- z^m = K^{-1} \exp \left\{ -(q_1 - q_1^{-1}) \sum_{k=1}^{\infty} a_{-k} z^k \right\} \\
 X^{\pm}(z) &= \sum_{n \in \mathbb{Z}} X_n^{\pm} z^{-n}.
 \end{aligned}$$

The Chevalley generators are related to the Drinfeld generators by the formulae:

$$\begin{aligned}
 t_1 &= K & e_1 &= X_0^+ & t_0 &= \gamma K^{-2} & f_1 &= X_0^- \\
 e_0 &= K^{-2} [X_0^-, X_1^-]_q & f_0 &= \frac{1}{[4]_{q_1}^2} [X_{-1}^+, X_0^+]_{q^{-1}} K^2.
 \end{aligned}$$

3. Derivation of the Drinfeld basis from the RS algebra

Let us recall the definition of the RS algebra. Let $R(\frac{z}{w}) \in \text{End}(V \otimes V)$, where V is a vector space, be a R -matrix which satisfies the Yang–Baxter equation

$$R_{12}(z)R_{13}(zw)R_{23}(w) = R_{23}(w)R_{13}(zw)R_{12}(z). \tag{3.1}$$

We introduce the following definition from [1].

Definition 2. The RS algebra $U(\mathcal{R})$ is generated by an invertible L -operator $L^\pm(z)$, which obeys the relations

$$R\left(\frac{z}{w}\right)L_1^\pm(z)L_2^\pm(w) = L_2^\pm(w)L_1^\pm(z)R\left(\frac{z}{w}\right) \tag{3.2}$$

$$R\left(\frac{z_+}{w_-}\right)L_1^+(z)L_2^-(w) = L_2^-(w)L_1^+(z)R\left(\frac{z_-}{w_+}\right) \tag{3.3}$$

where $L_1^\pm(z) = L^\pm(z) \otimes 1$, $L_2^\pm(z) = 1 \otimes L^\pm(z)$. For (3.2), the expansion direction of $R(z/w)$ can be chosen in z/w or in w/z , but for (3.3), the expansion direction must only be in z/w .

For the level-one case, the RS algebra of $U_q(A_2^{(2)})$ was realized by Miki's construction of a level-one vertex operator of $U_q(A_2^{(2)})$ [10].

In the following we apply the RS algebra to derive the Drinfeld basis of $U_q(A_2^{(2)})$ by using the Gauss decomposition technique. We take $R(\frac{z}{w})$ to be the R -matrix associated to the three-dimensional vector representation of $U_q(A_2^{(2)})$. The R -matrix has the following form:

$$R\left(\frac{z}{w}\right) = \begin{pmatrix} 1 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 \\ 0 & a & 0 & b & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & d & 0 & c & 0 & r & 0 & 0 \\ 0 & f & 0 & a & 0 & 0 & 0 & 0 & 0 \\ 0 & 0 & g & 0 & e & 0 & c & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & a & 0 & b & 0 \\ 0 & 0 & s & 0 & g & 0 & d & 0 & 0 \\ 0 & 0 & 0 & 0 & 0 & f & 0 & a & 0 \\ 0 & 0 & 0 & 0 & 0 & 0 & 0 & 0 & 1 \end{pmatrix} \tag{3.4}$$

where

$$\begin{aligned} a &= \frac{q(z-w)}{zq^2-w} & b &= \frac{w(q^2-1)}{zq^2-w} & c &= \frac{q^{5/2}z(q^2-1)(z-w)}{(zq^2-w)(zq^3+w)} \\ d &= \frac{q^2(z-w)(zq+w)}{(zq^2-w)(zq^3+w)} & e &= a - \frac{zw(q^2-1)(q^3+1)}{(zq^2-w)(zq^3+w)} \\ f &= \frac{w(q^2-1)}{zq^2-w} & g &= \frac{q^{1/2}w(q^2-1)(z-w)}{(zq^2-w)(zq^3+w)} \\ r &= \frac{z(1-q^2)[q^3z - q^2(z-w) + w]}{(zq^2-w)(zq^3+w)} \\ s &= \frac{w(1-q^2)[q^3z + q(z-w) + w]}{(zq^2-w)(zq^3+w)}. \end{aligned} \tag{3.5}$$

We use the following decomposition for $L^\pm(z)$:

$$\begin{aligned} L^\pm(z) &= \begin{pmatrix} 1 & 0 & 0 \\ e_1^\pm(z) & 1 & 0 \\ e_{3,1}^\pm(z) & e_2^\pm(z) & 1 \end{pmatrix} \begin{pmatrix} k_1^\pm(z) & 0 & 0 \\ 0 & k_2^\pm(z) & 0 \\ 0 & 0 & k_3^\pm(z) \end{pmatrix} \begin{pmatrix} 1 & f_1^\pm(z) & f_{1,3}^\pm(z) \\ 0 & 1 & f_2^\pm(z) \\ 0 & 0 & 1 \end{pmatrix} \\ &= \begin{pmatrix} k_1^\pm(z) & k_1^\pm(z)f_1^\pm(z) & k_1^\pm(z)f_{1,3}^\pm(z) \\ e_1^\pm(z)k_1^\pm(z) & k_2^\pm(z) + e_1^\pm(z)k_1^\pm(z)f_1^\pm(z) & u^\pm \\ e_{3,1}^\pm(z)k_1^\pm(z) & v^\pm & x^\pm \end{pmatrix} \end{aligned} \tag{3.6}$$

where

$$\begin{aligned} u^\pm &= k_2^\pm(z)f_2^\pm(z) + e_1^\pm(z)k_1^\pm(z)f_{1,3}^\pm(z) \\ v^\pm &= e_2^\pm(z)k_2^\pm(z) + e_{3,1}^\pm(z)k_1^\pm(z)f_1^\pm(z) \\ x^\pm &= k_3^\pm(z) + e_2^\pm(z)k_2^\pm(z)f_2^\pm(z) + e_{3,1}^\pm(z)k_1^\pm(z)f_{1,3}^\pm(z). \end{aligned} \tag{3.7}$$

Let us define the total currents

$$X_i^+(z) = f_i^+(z_+) - f_i^-(z_-) \quad i = 1, 2 \quad (3.8)$$

$$X_i^-(z) = e_i^-(z_+) - e_i^+(z_-) \quad i = 1, 2. \quad (3.9)$$

The inversions $L^\pm(z)^{-1}$ of (3.6) are easily seen to be

$$L^\pm(z)^{-1} = \begin{pmatrix} y^\pm & \tilde{x}^\pm & \tilde{u}^\pm \\ \tilde{y}^\pm & k_2^\pm(z)^{-1} + f_2^\pm(z)k_3^\pm(z)^{-1}e_2^\pm(z) & -f_2^\pm(z)k_3^\pm(z)^{-1} \\ \tilde{v}^\pm & -k_3^\pm(z)^{-1}e_2^\pm(z) & k_3^\pm(z)^{-1} \end{pmatrix} \quad (3.10)$$

where

$$\begin{aligned} \tilde{u}^\pm &= [f_1^\pm(z)f_2^\pm(z) - f_{1,3}^\pm(z)]k_3^\pm(z)^{-1} \\ \tilde{v}^\pm &= k_3^\pm(z)^{-1}[e_2^\pm(z)e_1^\pm(z) - e_{3,1}^\pm(z)] \\ y^\pm &= k_1^\pm(z)^{-1} + f_1^\pm(z)k_2^\pm(z)^{-1}e_1^\pm(z) + [f_1^\pm(z)f_2^\pm(z) - f_{1,3}^\pm(z)] \\ &\quad \times k_3^\pm(z)^{-1}[e_2^\pm(z)e_1^\pm(z) - e_{3,1}^\pm(z)] \\ \tilde{x}^\pm &= -f_1^\pm(z)k_2^\pm(z)^{-1} + [f_{1,3}^\pm(z) - f_1^\pm(z)f_2^\pm(z)]k_3^\pm(z)^{-1}e_2^\pm(z) \\ \tilde{y}^\pm &= -k_2^\pm(z)^{-1}e_1^\pm(z) + f_2^\pm(z)k_3^\pm(z)^{-1}[e_{3,1}^\pm(z) - e_2^\pm(z)e_1^\pm(z)]. \end{aligned} \quad (3.11)$$

By the definition of the RS algebra and the Gauss decomposition formula (3.6), and after tedious calculations, we derive

$$\begin{aligned} k_1^\pm(z)k_1^\pm(w) &= k_1^\pm(w)k_1^\pm(z) \\ k_1^+(z)k_1^-(w) &= k_1^-(w)k_1^+(z) \\ k_2^\pm(z)k_2^\pm(w) &= k_2^\pm(w)k_2^\pm(z) \\ k_3^\pm(z)k_3^\pm(w) &= k_3^\pm(w)k_3^\pm(z) \\ k_3^+(z)k_3^-(w) &= k_3^-(w)k_3^+(z) \\ k_1^\pm(z)k_2^\pm(w) &= k_2^\pm(w)k_1^\pm(z) \\ \frac{z_\pm - w_\mp}{z_\pm q^2 - w_\mp} k_1^\pm(z)k_2^\mp(w) &= \frac{z_\mp - w_\pm}{z_\mp q^2 - w_\pm} k_2^\mp(w)k_1^\pm(z) \\ k_1^\pm(z)k_3^\pm(w)^{-1} &= k_3^\pm(w)^{-1}k_1^\pm(z) \\ \frac{(z_\mp - w_\pm)(z_\mp q + w_\pm)}{(z_\mp q^2 - w_\pm)(z_\mp q^3 + w_\pm)} k_1^\pm(z)k_3^\mp(w)^{-1} &= \frac{(z_\pm - w_\mp)(z_\pm q + w_\mp)}{(z_\pm q^2 - w_\mp)(z_\pm q^3 + w_\mp)} k_3^\mp(w)^{-1}k_1^\pm(z) \\ \frac{z_\pm + w_\mp q}{z_\pm q + w_\mp} k_2^\pm(z)k_2^\mp(w) &= \frac{z_\mp + w_\pm q}{z_\mp q + w_\pm} k_2^\mp(w)k_2^\pm(z) \\ k_2^\pm(z)^{-1}k_3^\pm(w)^{-1} &= k_3^\pm(w)^{-1}k_2^\pm(z)^{-1} \\ \frac{z_\pm - w_\mp}{z_\pm q^2 - w_\mp} k_2^\pm(z)^{-1}k_3^\mp(w)^{-1} &= \frac{z_\mp - w_\pm}{z_\mp q^2 - w_\pm} k_3^\mp(w)^{-1}k_2^\pm(z)^{-1} \end{aligned} \quad (3.12)$$

$$\begin{aligned}
k_1^\pm(z)X_1^-(w)k_1^\pm(z)^{-1} &= \frac{z_\pm q^2 - w}{q(z_\pm - w)}X_1^-(w) \\
k_1^\pm(z)^{-1}X_1^+(w)k_1^\pm(z) &= \frac{z_\mp q^2 - w}{q(z_\mp - w)}X_1^+(w) \\
k_2^\pm(z)X_1^-(w)k_2^\pm(z)^{-1} &= \frac{(z_\pm - wq^2)(z_\pm q + w)}{q(z_\pm - w)(z_\pm + wq)}X_1^-(w) \\
k_2^\pm(z)^{-1}X_1^+(w)k_2^\pm(z) &= \frac{(z_\mp - wq^2)(z_\mp q + w)}{q(z_\mp - w)(z_\mp + wq)}X_1^+(w) \\
k_3^\pm(z)X_1^-(w)k_3^\pm(z)^{-1} &= \frac{z_\pm + wq^3}{q(z_\pm + wq)}X_1^-(w) \\
k_3^\pm(z)^{-1}X_1^+(w)k_3^\pm(z) &= \frac{z_\mp + wq^3}{q(z_\mp + wq)}X_1^+(w) \\
k_1^\pm(z)X_2^-(w)k_1^\pm(z)^{-1} &= \frac{z_\pm q^3 + w}{q(z_\pm q + w)}X_2^-(w) \\
k_1^\pm(z)^{-1}X_2^+(w)k_1^\pm(z) &= \frac{z_\mp q^3 + w}{q(z_\mp q + w)}X_2^+(w) \\
k_2^\pm(z)X_2^-(w)k_2^\pm(z)^{-1} &= \frac{(z_\pm + wq)(z_\pm q^2 - w)}{q(z_\pm q + w)(z_\pm - w)}X_2^-(w) \\
k_2^\pm(z)^{-1}X_2^+(w)k_2^\pm(z) &= \frac{(z_\mp + wq)(z_\mp q^2 - w)}{q(z_\mp q + w)(z_\mp - w)}X_2^+(w) \\
k_3^\pm(z)X_2^-(w)k_3^\pm(z)^{-1} &= \frac{z_\pm - wq^2}{q(z_\pm - w)}X_2^-(w) \\
k_3^\pm(z)^{-1}X_2^+(w)k_3^\pm(z) &= \frac{z_\mp - wq^2}{q(z_\mp - w)}X_2^+(w)
\end{aligned} \tag{3.13}$$

$$\begin{aligned}
(z-w)(zq^3+w)X_1^-(z)X_2^-(w) &= (z+wq)(zq^2-w)X_2^-(w)X_1^-(z) \\
(z+wq)(zq^2-w)X_1^-(z)X_1^-(w) &= (zq+w)(z-wq^2)X_1^-(w)X_1^-(z) \\
(z+wq)(zq^2-w)X_2^-(z)X_2^-(w) &= (zq+w)(z-wq^2)X_2^-(w)X_2^-(z) \\
(z+wq)(zq^2-w)X_1^+(z)X_2^+(w) &= (z-w)(zq^3+w)X_2^+(w)X_1^+(z) \\
(z-wq^2)(zq+w)X_1^+(z)X_1^+(w) &= (z+wq)(zq^2-w)X_1^+(w)X_1^+(z) \\
(z-wq^2)(zq+w)X_2^+(z)X_2^+(w) &= (z+wq)(zq^2-w)X_2^+(w)X_2^+(z)
\end{aligned} \tag{3.14}$$

$$\begin{aligned}
[X_1^+(z), X_1^-(w)] &= (q-q^{-1}) \left[-\delta \left(\frac{z}{w} q^c \right) k_2^+(z_+) k_1^+(z_+)^{-1} + \delta \left(\frac{z}{w} q^{-c} \right) k_2^-(w_+) k_1^-(w_+)^{-1} \right] \\
[X_2^+(z), X_2^-(w)] &= (q-q^{-1}) \left[\delta \left(\frac{z}{w} q^c \right) k_3^+(z_+) k_2^+(z_+)^{-1} - \delta \left(\frac{z}{w} q^{-c} \right) k_3^-(w_+) k_2^-(w_+)^{-1} \right] \\
[X_1^+(z), X_2^-(w)] &= (q-q^{-1}) q^{\frac{1}{2}} \left[-\delta \left(-\frac{z}{w} q^{c+1} \right) k_2^+(z_+) k_1^+(z_+)^{-1} \right. \\
&\quad \left. + \delta \left(-\frac{z}{w} q^{-c+1} \right) k_3^-(w_+) k_2^-(w_+)^{-1} \right] \\
[X_2^+(z), X_1^-(w)] &= (q-q^{-1}) q^{-\frac{1}{2}} \left[\delta \left(-\frac{z}{w} q^{c-1} \right) k_2^+(-z_+ q^{-1}) k_1^+(-z_+ q^{-1})^{-1} \right. \\
&\quad \left. - \delta \left(-\frac{z}{w} q^{-c-1} \right) k_3^-(-w_+ q) k_2^-(-w_+ q)^{-1} \right].
\end{aligned} \tag{3.15}$$

We define the algebraic isomorphism

$$\begin{aligned} X^\pm(z) &= (q - q^{-1}) [X_1^\pm(z) + X_2^\pm(-zq)] \\ \phi(z) &= (1 + q^{\frac{1}{2}} - q^{-\frac{1}{2}})\phi_1(z) - \phi_2(-zq) \\ \psi(z) &= \psi_1(z) - (1 + q^{-\frac{1}{2}} - q^{\frac{1}{2}})\psi_2(-zq) \end{aligned} \quad (3.16)$$

where

$$\begin{aligned} \phi_i(z) &= k_{i+1}^+(z)k_i^+(z)^{-1} \\ \psi_i(z) &= k_{i+1}^-(z)k_i^-(z)^{-1} \quad i = 1, 2. \end{aligned} \quad (3.17)$$

Then $X^\pm(z)$, $\phi(z)$, $\psi(z)$ satisfy the Drinfeld current commutation relations of $U_q(A_2^{(2)})$. This completes the derivation of the Drinfeld basis from the RS algebra in the $U_q(A_2^{(2)})$ case.

We would like to thank Professor B Y Hou for his continuous encouragements. W-L Yang would like to thank Professor G von Gehlen and the theoretical group of the Physikalisches Institut der Universitat Bonn for their kind hospitality. W-L Yang is supported by the Alexander von Humboldt Foundation. Y-Z Zhang is supported by the Australian Research Council large, small and Queen Elizabeth II Fellowship grants.

References

- [1] Reshetikhin N Yu and Semenov-Tian-Shansky M A 1990 *Lett. Math. Phys.* **19** 133
- [2] Zhang Y-Z 1997 *J. Phys. A: Math. Gen.* **30** 8325
- [3] Drinfeld V G 1988 *Sov. Math. Dokl.* **36** 212
- [4] Ding J and Frenkel I B 1993 *Commun. Math. Phys.* **155** 277
- [5] Cai J-F, Wang SK, Wu K and Zhao W-Z 1998 *J. Phys. A: Math. Gen.* **31** 1989
- [6] Gould M and Zhang Y-Z 1998 *Lett. Math. Phys.* **44** 291
Ding J 1999 *Lett. Math. Phys.* **49** 161
- [7] Yang W-L and Zhang Y-Z 1999 *Phys. Lett. A* **261** 252
- [8] Chari V and Pressley A 1998 *Commun. Math. Phys.* **196** 461
- [9] Jing N H and Misra K C 1997 *Preprint q-alg/9701034*
- [10] Hou B Y, Yang W-L and Zhang Y-Z 1999 *Nucl. Phys. B* **556** 485